Math 2432 – 100

Summer 2012 – Test 4 – Part I
NO electronic devices may be used during the test. Show all work in Blue Book. Please label work.

Answers without any work or explanation may receive only partial credit or no credit at all.
Eight (8) points each question.
For #1-6, determine whether the following series converge or diverge. 
Please write answer in the form:

“This series ______________________ by the ______________________ test(s).”
Fill in the first blank with “converges”, “converges absolutely”, or “diverges.”

Fill in the second blank with the test(s) that you used.

If the series converges, find the sum, if possible.
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7. Determine if the sequence, 
[image: image7.wmf](

)

ln1

n

n

a

n

+

=

, n ≥ 1, converges or diverges. Explain.
8. (7 points) Find the Radius and Interval of Convergence of  
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9. (7 points) Find a power series representation for 
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10. (7 points) Is the sequence 
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, n ≥ 1, increasing, decreasing, or not monotonic? Explain.
11. (7 points) Find the interval of convergence for 
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Math2432 – 100
Summer 2012 – Test 4 – Part II

NAME ____________________________________________________________

Show all work. Please show your work and answers clearly.

Answers without any work or explanation may receive only partial credit or no credit at all.

TI83/84/86/89 and Mathematica may be used by you to assist you with the work.
You may print the Mathematica code as part of your work. Please label with (* name *).
Eight (8) points each question.
12. Use a series to write the following as a ratio of two integers: 
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13. 
a. Determine whether the series 
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 converges or diverges.

b. If the series converges, find the number of terms of 
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 needed to estimate the sum of the series to three decimal places (i.e., |error| ≤ 0.0001).
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